MODEL

SPECIFICATIONS:

TOLERANCES
P vy raw - [30-48"(7'“] - THE AT ANCHOR JIG PLATE ASSEMBLY PROVIDES SEVERAL P1
DIMENSIONS AREININCHES, S UI AU\ I_IftSYSteme 12 ANCHORING SOLUTIONS FOR ALL AQUA CREEK AT-SERIES
FRACTIONAL: vrroororre.. +1/16 LIFTS; INCLUDING THE PRO POOL-AT & RANGER-AT. THE AT
ANGULAR: «...coorssssimmrin 10 I / \ ANCHOR JIG PLATE ASSEMBLY CAN BE USED FOR EXISTING OR
Rl\’lgEELPA&EcEEl)(:EHX:IQAIXE' 1;0(1)05 - - - - NEW CONSTRUCTION POOL & SPA DECKS. FOR NEW
et t ! CONSTRUCTION THE ANCHOR JIG PLATE IS EMBEDDED IN THE
CONCRETE DECK AND IS BONDED USING A SOLID COPPER
/ \ = DIRECT BURIAL TYPE LUG. FOR EXISTING DECKS THE JIG PLATE
. . 5 . ACTS AS A TEMPLATE AND A HOLDING FIXTURE. SEE THE LIFT'S
BOLT - HEX 1/2"-13X1 1/2" N AN OWNERS MANUAL FOR INSTALLATION INSTRUCTIONS & o
PART NO. INV00388 " 0 DIMENSIONS. ™
Ra = <
| | E U
— O . ¢
" £ g -
| SWASHER - FLAT 1/2 S- I } =
_/_PART NO. INV01169 i N '
=0 5™ | - =
i L ? :
! WASHER - ET 1/2" Ig = .
@PART NO. INV01188 o N Z
| | o -
. \ % = <
' (@)
(S> R |39Wvisla Ooweiss T ¢ T
“T—ANCHOR INSERT - 4" JJO¥d YO Q
PART NO. INV01582 TN O ¥y
DETAIL A ! \O b b O/ e
SCALE2:3 | o1]
———) - 25.40cm _
g L "NUT - HEX 1"-8 ZINC - I: 10" :I = z
N— m
PART NO. INV00723
|/ ) _EDGE OF POOL _ ) '
REFER TO MANUAL FOR PROPER SETBACK m
BOLT- SHCS #10-24X3/4" o
PART NO. INV00470 A
-
/ A @)
§ r 4
——GROUNDING LUG S
| PART NO. INV00608 - < <
@—WASHER - FLAT 1/4" &
| PART NO. INV01170 Y %‘

SCREW - PH 1/4"-20X3/4" BRASS

PART NO. INV02361 ANCHOR - EMBEDED 4IN.

&>
p—
|
S—A
S}
I
<
S
—
=
Q)
<
=
)
51-163-220

MATERIAL: STEEL

NUT - NYL #10-24 OPTIONS/ACCESSORIES o FINISH: MILL [
PART NO. INV00736 : :
PART NO. F-04CAJP APPROX. WEIGHT: 10.97 LBS. || &
9889 GARRYMORE LANE PROPRIETARY AND CONFIDENTIAL INFORMATION REVISIONS
_ 6 MISE(?GU Lg‘,lgl_'{)75699808 THIS DRAWING AND ALL INFORMATION CONTAINED HEREIN REV. DESCRIPTION DATE APPROVED
FA(X (436) 549-2602 ﬁgggﬁiﬁf&:’ﬁi%&ﬁEA%%%AGEEEEEEﬁEE%E’E%I#%L P1 PRODUCTION RELEASE 5/27/2021 J.MAXWELL

Aqua CGreek Products www.Aquacreek.com

Leadsrs in Recreation, Fitress ard Abil tv (©2021 AQUA CREEK PRODUCTS. ALL RIGHTS Reservep. *SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE
P1 - Thursday, May 27, 2021 3:55:17 PM




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (2 : 3)
	Drawing View5


